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ElRgomiEa rOo—)LELIZRET S
AR R DY) RIRFDEN

AR R DA VR FRITONRES

2RIBRABAE BITRRESR
(n=235) T’ (n=119)

T—ARIE(n=116)

BEE6H B &I BR6H A #&IZHbA1cT%
HbA1c 7%k i Lk
(n=50) 2\ (n=69)




B/ B 1 DHbA1cHT%FR B D EEETULL E D EE

D LB (2 & B ABREs S DY R EF OB ES

HbA1c7%FK i (n=50) HbA1c7%LLE (n=69)  PiE
45 (B/%) 33 / 17 38 / 31 0230 a)
F in 59 (19-77) 63 (23-85) 0292 b)
BMI 255 + 408 250 + 442 0577 ¢)
HbA1c (NGSP) (%) 9.80 + 275 914 + 174 0.142 «¢)
ALB (g/dL) 401 =+ 043 384 =+ 0.39 0030 ©¢)
ALT (IU/L) 318 = 259 248 + 17.6 0.103 «¢)
Scr(mg/dL) 071 = 0.24 0.84 =+ 041 0035 «¢)
#E PR 97 FE (4F) 8.08 (0-43) 13.70 (0-39) <0.001 b)
AR 0T (BHY/7EL) 10 / 40 39 / 30 <0.001 a)
ERAEHRIZ(F8%H) 4.24 (0-10) 6.88 (0-18) <0.001 b)
FERMERRER (B%E) 1.22 (0-4) 1.97 (0-4) <0.001 b)
FEHRIDORARZ(E/8) 3.24 (0-9) 4.67 (0-9) <0.001 b)
BIEA(®HY/EL) 32 / 18 49 / 20 0418 a)
T (FX) (HY/%L) 22 / 28 27 / 42 0594 a)
BESHA (KL L/ Kim) 3 / 47 14 / 55 0.034 d)
HRRIE (Y /73L) 10 / 40 36 / 33 <0.001 a)
FRERAE (HY/TEL) 22 / 28 44 / 25 0032 a)

a) x ?test. b) Mann-Whitney U test. c)t—test. d)Fisher’s exact probability test



AR ROURVEFICET S

B S AT

HR (95% CI), P values

ALB 3. 8g/dLKjis | ® | 3.806 (0.556 - 9.311), P=0.003

Scr 1. 1mg/dLLLE | ® | 1.336 (0.513 - 3.480), P=0.553
AR NEHY ; ® | 5.200 (2.243 - 12.053), P<0.001

L EFI6TELELL ; ® i 2.179(1.032 - 4.601), P=0.041
WERRIREE2FE R LI £ % ® i 3.798 (1.762 - 8.186), P<0.001
18 O BREE %5 E L1 _E | ® | 4.903(2.117 - 11.355), P<0.001
s o 04 15| | ® | 2.603 (1.228 - 5.518), P=0.013
BAESHALL L | ® % 3.988 (1.080 - 14.725), P=0.038
wEESH Y | ® | 4.364 (1.886 — 10.094), P<0.001
HEHY | o | 2.240 (1.065 - 4.711), P=0.034
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B = MR

ALB 3. 8g/dLKiik

Scr 1. 1mg/dLEL L |

{R) 0K HY
e RFI6TEIR L

CRRAEIEELL

1A ORAEMEELLE

HEFRIREE104E LA
BAESHALLE

MAIRAE & Y
FRHEAESH Y

HR (95% CI), P values

3.806 (0.556 - 9.311), P=0.003

1.336 (0.513 - 3.480), P=0.553

5.200 (2.243 - 12.053), P<0.001

2.179(1.032 - 4.601), P=0.041

3.798 (1.762 - 8.186), P<0.001

4.903(2.117 - 11.355), P<0.001

2.603 (1.228 - 5.518), P=0.013

3.988 (1.080 - 14.725), P=0.038
4.364 (1.886 — 10.094), P<0.001
2.240 (1.065 - 4.711), P=0.034

10



AR R DY RVEFRE B ERBER

HbA1c7% >R it 1% Al 22 D #H B

100% -~
90%
80% -
70% -
60% -
50% -
40% -
30% -
20% -
10% -

IBRE64 B 12 DHbA1cT%3R i B 38

0%




EfpRmAEIO—ILBIEDFTIAVERITKHT S
ZHIEFICED AP DIEERNR
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YRAOREBERAF
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(n=119) _‘_> (n=36)
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(n=80)

RFEEEHYDE RERELZLDE
(n=14) (n=22)




BiRZEIFO—IILEIEOTIRIEEIZNT S

EHIERCRD AR DHEENR

R (/20
i
BMI

ABEBEHbALc (NGSP) (%)
ALB (g/dL)
AST (IU/L)
ALT (IU/L)
Ccr (mL/min)

PER R EE (4F)
ABREEA R (EAR/AER)
Al AT (R )
ABEHE PR PR (R
FHI AR A B (E)
REA (BHY/%L)
= (%) (HY/%EL)

FEIEEEE (n=14)

5/ 9
66(45—-85)
26.2 = 4.99
8.70 = 0.96
3.76 = 0.40
23.0 = 18.9
22.2 = 12.2
82.0 =+ 35.6
20.6 (7-36)
13 /1
9.21 (2-18)
2.07 (1-3)
5.64 (3-8)
8 /6
2 / 12

FEE 8 (n=22)

14 / 8
66(47-83)
24.1 = 3.00
8.85 £ 1.57
3.84 * 0.42
25.5 = 16.1
28.9 = 220
79.4 = 435
19.7(7-43)
17 / 5
8.23 (4-15)
2.05(1-3)
5.59 (2-7)
14 / 8
7/ 15

P{E
0.196
0.885
0.129
0.744
0.611
0.680
0.309
0.853
0.665
0.370
0.553
0.936
0.962
0.970
0.432

a)
b)
c)
c)
c)
c)
c)
c)
b)
d)
b)
b)
b)
a)
d)

a) X Ztest.b) Mann—-Whitney U test. c)t—test. d)Fisher's exact probability test
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